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Question No. 1

The property of a material by which it can be beaten or rolled into sheets is known as-

A) Malleability

C) Plasticity

A) 3TETdaYIdar (Malleability)
C) venf¥cahdr (Plasticity)

Answer Key : A

B) Ductility

D) Elasticity

Terd # 9§ 0T §, s ¥ drea A1 Uos =& et F agar o whar ¥

B) deferdr (Ductility)
D) 9carEydr (Elasticity)

Your Response : A (Correct)

Question No. 2

Magna flux is-

A) A non-destructive inspection technique
that makes use of magnetic field and
magnetic particles to locate flaw in

materials

C) An
welding

instrument used for inspection of

HATAT FoIFH BT &-

A) T FAdASTelded AT aede ST
QA H Y HT Gl o & v ek
& 3R Yahrg Ul HT 3UGT fhar STl
g

C) afeser & defor & faw g fhar s

B) An instrument using ultrasonic techniques

for crack detection

D) An instrument used for

measurements using magnetism and flux

precision

density

foraet

B) XX & Udl ol dlell 33Ul

3TecTHITeAeh dheilehl T YA §IAT gl

D) T 3yvl @ s A & fav deaehcd
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qrell 30T IR FoFg gedcg T 39AET fhar ST §

Answer Key : A Your Response : A (Correct)

Question No. 3

Acetylene feather is present in which of the following flames of welding?
A) Neutral flame B) Carburising flame

C) Back flame D) Oxidising flame

afssa & PTiorle # & B ot o TRRe e Ao der &2

A) 3ereT ot (Neutral flame) B) @AW ot (Carburising flame)
C) 9T @l (Back flame) D) 3ifedeRe @ (Oxidising flame)
Answer Key : B Your Response : B (Correct)

Question No. 4

The loss of energy of the flowing fluid is due to-
A) Sudden contraction B) Sudden enlargement

C) Bends D) All of the options

T8 @ T Soll FT A huh HROT Gl &7

A) 3dlddeh {-igwtlo-l (Sudden contraction) B) 3dldeh SATHI (Sudden enlargement)
C) T (Bends) D) fasedl & & @efr
Answer Key : D Your Response : D (Correct)

Question No. 5

Which of the following is a type of solid state welding?
A) Ultrasonic welding B) Thermit welding

C) Atomic hydrogen welding D) Laser Beam Welding

S U FiT, S ITEAT 7 ST 7 Th YR 27
A) 3Tecieis dfesar B) ufdic afeser
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C) ucIfAs® gsaleld afeser D) ook &F afesar

Answer Key : A Your Response : A (Correct)

Question No. 6

The deterioration of metals through oxidation is called-

A) Corrosion B) Anodization
C) Galvanization D) Phosphating
SO & AT & g A et A ARae Y T w87
A) ST B) wAIflSS A
C) dreaeiiehor D) wIEhfear
Answer Key : A Your Response : A (Correct)

Question No. 7

A combination of two or more materials to form a new material with enhanced material
properties is known as-

A) Reinforcement B) Matrix

C) Composite D) Polymer

& & & HE Gt & WAk A aRepa s I A AT e @ S B

el ST g
A) Yddlel (Reinforcement) B) #feFa (Matrix)
C) mFaifere D) dreieR
Answer Key : C Your Response : C (Correct)
Question No. 8
Soft solder consists of-
A) Lead and tin B) Lead and zinc
C) Lead and aluminium D) Copper and tin

T HesT 7 fAer g §1
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A) @3 3R et B) oF 3R S&ar
C) ©i3 3R TogA=aH D) drer 3R feot
Answer Key : A Your Response : A (Correct)

Question No. 9

Which mechanism is formed by the inclusion of ternary or higher order floating link to a simple

mechanism?
A) Compound mechanism B) Complex mechanism
C) Planar mechanism D) Spatial mechanism

Th WA dF U TAU F FGARY AT 35T HH FalfedT foldh W geaadrell dF 1 872

A) FFUT38 HhfoloaT B) Fiteldd HohfdoH
C) TeleR HohldoH D) TOrfrael AdfdsH
Answer Key : B Your Response : A (Wrong)

Question No. 10

Which of the following is an intensive property?

A) Temperature B) Pressure
C) Volume D) Both temperature and pressure
ST | FIT TF Wl 0T 87
A) dYHTT B) &«
C) 3madel D) amHAA IR g gt
Answer Key : D Your Response : D (Correct)

Question No. 11

Spring index is-
A) Ratio of coil diameter to wire diameter B) Load required to produce unit deflection

C) Its capability of storing energy D) Indication of quality of spring
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A) TR & = ¥ Higel & SAH HT 3dTd B) 3#g fA&IUUT # 3cUlgd A & fow oig
AT AR il &

C) FoIl HSRUT T SHHI &7 D) T&aT & J[uTacdr &I Hehcl

Answer Key : A Your Response : A (Correct)

Question No. 12

One Joule is equal to which of the following?

A) (Newton) . (Meter) B) (Coulomb) . (Volt)
C) (Pascal) . (Meter)? D) All of the options
v St PefarRd # & R SR 37
A) () . (HI) B) (ger¥s) . (dlec)
C) (gremer) . (#Hiex)3 D) sH & qalr
Answer Key : A Your Response : D (Wrong)

Question No. 13

If the number of constraints is five, then degrees of freedom will be-

A) One B) Two
C) Three D) Four
AT (3He) °iF gt W FFal TR |
A) T&H B) ar
C) i D) IR
Answer Key : A Your Response : A (Correct)

Question No. 14

In the coupling rod mechanism of a locomotive, each of the four pairs is a-

A) Sliding pair B) Rolling pair
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C) Screw pair

GET IT ON
Google Play

D) Turning pair

APAfET F Fufeer A3 a7 &, IR 2 7 A TS T -

A) Tersf3er U3
C) & W

Answer Key : D

B) feler 43R
D) efsder I3r

Your Response : D (Correct)

Question No. 15

The polytropic index is zero for process.

A) Constant volume

C) Constant temperature

B) Constant pressure

D) Isentropic

yHA & v NeleiRe gueie g & g
A) AIdis 3mTd- B) fadis grer
C) faudie am D) 3msdcIius

Answer Key : B

Your Response : B (Correct)

Question No. 16

The cutting edges of a twist drill are known as-

A) Flanks B) Wedges
C) Flutes D) Lips
v B F Fear aer fFeR FgaTd &

A) Fold B) ao&@
C) WelcH D) forcg

Answer Key : D

In laminar flow, maximum
velocity?

Your Response : D (Correct)

Question No. 17

velocity at the centre of the pipe is how many times the average
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A) Two B) Three

C) Four D) Five

qeell valg &, Uy & Fg W HORAHA 997 A a1 ¥ et T[T v 82

A) ar B) o=
C) IR D) 4
Answer Key : A Your Response : A (Correct)

Question No. 18

What is the full form of RTD?
A) Resistance Time Damper B) Resistance Temperature Detector

C) Resistive Temperature Diode D) Ratio of Time Difference

RTD & quf 9 (A1) &1 &7

A) ¥ TEH SFR B) Ioterd TFaR fBeaX
C) IARea r=R s™s D) I3 3% ez Bwid
Answer Key : B Your Response : A (Wrong)

Question No. 19

Mouthpieces are used to measure-
A) Velocity B) Friction

C) Pressure D) Rate of flow

A & O ABYNT &1 39T BFAr ST gl

A) T B) @¥ur
C) cda D) 9darg <X
Answer Key : D Your Response : D (Correct)

Question No. 20

Angle between the tool face and the ground end surface of flank is called-
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A) Lip angle B) Rake angle

C) Cutting angle D) Clearance angle

ool 9 3R Felw & A133 €3 Waag F I F BT HTFRAT FET AT 87

A) forg derer B) Y& Tdrel
C) hdlel TITel D) fFeraid wIrer
Answer Key : A Your Response : A (Correct)

Question No. 21

Which of the following substances has the largest value of Young's modulus?
A) Rubber B) Nylon

C) Iron D) Copper

fPfaf@a # & fra gg & dor & ANE F FdtE g7 §?

A) IR B) &Arelied
C) oligr D) drer
Answer Key : C Your Response : C (Correct)

Question No. 22

What is the full form of WJM?
A) Water Jacket Machining B) Water Jet Machining

C) Weight Jack Machining D) Wind Jet Machining

WJM T qof &7 7 872

A) X She  #JffHeT  (Water  Jacket B) arex aie @Rfifser (Water Jet Machining)
Machining)

C) dc i aRffaer (Weight Jack Machining) D) fag Sie #iffesr (Wind Jet Machining)

Answer Key : B Your Response : B (Correct)

Question No. 23
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For wire drawing operation, the work material should be-

A) Ductile B) Tough

C) Malleable D) Resilient

aR diaet & F & AT, G Gery T gar wige?

A) deterefer (Ductile) B) &aR (Tough)
C) 3mardad=iig (Malleable) D) ufaesdr (Resilient)
Answer Key : A Your Response : A (Correct)

Question No. 24

is the point where the side cutting edge and end cutting edge intersect.
A) Shank B) Flank

C) Nose D) Face

A) d% B) Woleh
C) &t D) &H
Answer Key : C Your Response : C (Correct)

Question No. 25

A device, which holds, locates a workpiece, guides and controls one or more cutting tools is

called-
A) Jig B) Fixture
C) Template D) Lathe

gg 39U, St fRelt i & gssar &, WEr Rufa & o Srar &, v @ v @ 30F Fwde
39O Fr RAERT Far ¥ 3R PfT wwar §, 98 = FEdar 82

A) & (Jig) B) fheraar (Fixture)
C) ¢FJelc(Template) D) & (Lathe)

Answer Key : A Your Response : A (Correct)
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Question No. 26

is the cutting action of thousands of sharp abrasive grains.
A) Grinding B) Milling

C) Broaching D) Drilling

, BRI AT Tl (3rqendsr) Asew Hr FeleT fHAT G

A) arsfsar B) fAferar
C) sifiar D) f3felar
Answer Key : A Your Response : A (Correct)

Question No. 27

Which of the following grinding machines is used to grind long and slender cylindrical rods?
A) Bench grinder B) Portable grinder

C) Centreless grinder D) Surface grinder

Afa@d & ¥ ST @ g¥or ANT FT 3T F&r 3 gqel SoaER T W BEa F P
T Sirar §2

A) & AETST B) didde IS+
C) T ASesX D) X%y IS
Answer Key : C Your Response : C (Correct)

Question No. 28

Zeroth law of thermodynamics forms the basis of measurement.
A) Pressure B) Temperature

C) Heatrate D) Work

FeARIET 1 el A AT &I 3MUR B

A) ai" B) dm™

C) AT & D) &
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Answer Key : B Your Response : B (Correct)

Question No. 29

A fathometer works on the principle of:
A) Reflection of sound waves B) Reflection of magnetic waves

C) Reflection of radio waves D) Reflection of ultrasonic waves

thelHer & fAgid W I T &

A) €afad aa@Enm & Widded B) Tehr oAl & WRrdciel
C) If3ar Rl & RWadeT D) el (WIHT) aa & GIdds
Answer Key : A Your Response : D (Wrong)

Question No. 30

Existence of velocity potential implies that the fluid flow is-

A) Steady B) Uniform

C) Irrotational D) In continuum

TS Ag o BT B aa v #

A) TEIX (Steady) B) Ts @A (Uniform)

C) IR-guerefier (Irrotational) D) f@a¥ar & (In continuum)
Answer Key : C Your Response : C (Correct)

Question No. 31

The highest point of a siphon is called-
A) Siphon top B) Summit

C) Reservoir D) Elevation

WISl T 3T g FAT FgT AT §7?
A) FEHT T B) @FHIC
C) WEfR D) uwfeders
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Answer Key : B Your Response : B (Correct)

Question No. 32

The rope or cable of a crane carrying a load is in-

A) Tension B) Compression
C) Bending D) All of the options
IR 30TeT dTell Shel T ITUT AT el A giar 872
A) <2l (Tension) B) &FJ2ll (Compression)
C) dfsar D) s & |l
Answer Key : A Your Response : A (Correct)

Question No. 33

The property of a fluid which determines its resistance to shearing stress is called-
A) Surface tension B) Compressibility

C) Viscosity D) Specific gravity

TRl g@ & gF 7O, St ITE9OT gidee & 9fd gEh gfoiY A AR e & 39 = Fer
S 82

A) Y5 derd (Surface tension) B) T@dsIar (Compressibility)
C) ITIar (Viscosity) D) 3miféis @eica (Specific gravity)
Answer Key : C Your Response : C (Correct)

Question No. 34

A dielectric is used in-
A) Electro-chemical machining B) Ultra-sonic machining

C) Electro-discharge machining D) Laser machining

Wrdegd H JAeT 7 ST B

2]

AN

A) Solaal-hiAde HAMT B) 3fegr Hifaier aefifeer
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C) soiacl-3Ears #efifaar D) ook #effaer

Answer Key : C Your Response : C (Correct)

Question No. 35

The property of sand due to which the sand grains stick together is called-

A) Collapsibility B) Permeability

C) Cohesiveness D) Adhesiveness

T &M a8 70T, fSHHdh FROT 3T & FOT ER F{ush 9 &, gelleT ¢l

A) fAuregan(Collapsibility) B) UReTHIAT(Permeability)

C) gTsThdT(Cohesiveness) D) 3mastehdr(Adhesiveness)
Answer Key : C Your Response : C (Correct)

Question No. 36

What is the unit of the Section modulus?

A) mm? B) mm
C) mm?2 D) mm3
AR FNSYAH FT ATTH FAT 87
A) P 4 B) fA=Y
C) A2 D) &y 3
Answer Key : D Your Response : D (Correct)

Question No. 37

The maximum efficiency of a screw jack having square threads and a friction angle of 30° will
be-

A) 9% B) 11%

C) 20% D) 33%

T Y9 ofF oad TarR anr 3R 30° & uw g9OT HI0T AT §, F AgcaA(maximum) EETT
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T gham?
A) 9% B) 11%
C) 20% D) 33%
Answer Key : D Your Response : D (Correct)
Question No. 38
Stiffness is defined as the load required per unit of the spring.
A) Area B) Volume
C) Deflection D) Height
Rewora & ST & ¥ 9fY IFIT HawEE o F 7 F IR B S
A) &7 B) 3mad«
C) Tagest D) a8
Answer Key : C Your Response : C (Correct)

Question No. 39

Which of the following structures contains 6.67% of carbon?
A) Ferrite B) Austenite

C) Pearlite D) Cementite

ffaf@d & ¥ 9 T3 & 6.67% e g &7

A) WRTST B) 3iEeATSC
C) Tense D) d#eerse
Answer Key : D Your Response : D (Correct)

Question No. 40

The distance from the top land to the pitch circle in a gear is termed as-
A) Pitch B) Dedendum

C) Addendum D) Clearance
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I & MY s & R Fher d A gl = A1 FeT AT §7?

A) = B) f33sH
C) ussH D) 3faerer (fFeraid)
Answer Key : C Your Response : C (Correct)

Question No. 41

In spot welding, the spacing between two spot welds should not be less than-

A) d B) 1.5d
C) 3ad D) 6d
TWic AfesT &, & TWic des F &g AT auaA(spacing) q A A& Qe gl
A) d B) 1.5d
C) 3d D) 6d
Answer Key : B Your Response : C (Wrong)

Question No. 42

If my; = mass of dry air and m,,= mass of water vapour in the air-water vapour mixture, then

humidity ratio is given by-
A) my/mg B) mg/my

C) (my+ma)/my, D) ma/(ma+my,)

Ife arg-Srer arsq AT #F m, = YF T F geFAT IR m,, = I AT F AR §, ol

TG 39T (humidity ratio) T EaRT YefRid forar Srar g
A) my/my B) mg/m,,
C) (my+mg)/my, D) mg/(mg+my)
Answer Key : A Your Response : D (Wrong)

Question No. 43

Match plate pattern is used for-
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A) Green sand moulding B) Pit moulding

C) Machine moulding D) Bench moulding

AT wie Yot &1 39T fFas v fRar Srar §-

A) T dz Afes B) e aAifesar
C) #M Alfesa D) s Aifese
Answer Key : C Your Response : C (Correct)

Question No. 44

The process of bevelling sharp ends of a workpiece is called

A) Knurling B) Grooving
C) Facing D) Chamfering
Rt apd T & oot f{F $r aafaTr (bevelling) Fr afsFar Hr &gl ST gl
A) s B) T
C) e D) dFwRar
Answer Key : D Your Response : D (Correct)

Question No. 45

Which of the following is a sliding pair?

A) Bolt and nut B) Ball and socket joint
C) Belt and pulley D) Cross-head and guides
Ffaf@a § ¥ Fr v ToEfE B3R 82
A) drec 3R sic B) dieT 3iX Al Slisc
C) deT 3R ol D) #ia-gs 3R amgs
Answer Key : D Your Response : D (Correct)

Question No. 46

is an example of force closed pair.
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A) Circular shaft revolving inside a bearing B) Cam and follower pair

C) Rectangular rod in a rectangular hole in a D) Lead screw and nut of a lathe
prism

P Felles oA N TF 3G ¢
A) ARG & 3ieT AN g5 dedHR e B) H 3N wid3R I7A

C) e # Al 3aR 88 #H IFAFR D) oY & o5 & AR 7
E]

Answer Key : B Your Response : A (Wrong)

Question No. 47

A Kaplan turbine is suitable for-
A) High head low discharge B) High head high discharge

C) Low head low discharge D) Low head high discharge

el SISl & faT sugET 8

A) &% g3 o B B) & 83 &r$ e
C) ot &z o Reamr D) ot 83 g5 fS&ame
Answer Key : D Your Response : D (Correct)

Question No. 48
What is the area of a pipe line which carries 100 m?3/s of water with a velocity of 0.25 m/s?
A) 100 m2 B) 400 m?

C) 300 m? D) 200 m?

Rt 939 as # 0.25 /A F 3T F YT 100 m3/s G VAR BT &, UBT ST F &
AT HYI

A) 100 m2 B) 400 m2

C) 300 m2 D) 200 m2
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Answer Key : B

Silicon steel is widely used in-
A) Electricial industry

C) For making leaf springs

fafoieT Tel FT F9F & O

Lo

A) Soifdcahd 5EC
C) % &Y S & foIw

Answer Key : A

GET IT ON
Google Play

Your Response : B (Correct)

Question No. 49

B) Chemical industry

D) For making nuts and bolts

H 39er R S #
B) el 33ET
D) sic 3R diec a6 & T

Your Response : A (Correct)

Question No. 50

Which of the following electrodes falls into the flat and horizontal welding position category?

A) E6010

C) E6012

B) E6011

D) E7024

$oIH @ Fid AT saaeis, Feie AR giRelea (Fdaw 3R &ifafse) afessr dsive & Jofr & 3mrar

&7
A) E6010
C) E6012

Answer Key : D

18-4-1 High speed steel contains-
A) 4% carbon

C) 4% chromium

18-4-1 g5 ¥z VY # g &-
A) 4% FIeeT

B) E6011
D) E7024

Your Response : A (Wrong)

Question No. 51

B) 5% vanadium

D) 0.7% tungsten

B) 5% d=i3g#
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C) 4% FfAas D) 0.7% &aree

Answer Key : C Your Response : C (Correct)

Question No. 52

In the relation VT" = constant, the value of n for carbide tools is-
A) 0.1t00.2 B) 0.20to 0.25

C) 0.30to 0.40 D) 0.40to 0.55

HaHr VTN = constant (ReRi®) #, #1eEs gl & faw n &1 AT e @r 82

A) 0.1 & 0.2 B) 0.20 & 0.25
C) 0.30 & 0.40 D) 0.40 & 0.55
Answer Key : B Your Response : B (Correct)

Question No. 53

The product El is known as-

(where E- Modulus of Elasticity and I= Moment of Inertia)

A) Section modulus B) Modulus of rupture
C) Flexural rigidity D) Polar modulus
3carg El & ® H AT 1T B

(STeT E- WeArear Adiss 3R | = Siseq & 3mged)

A) TR AR B) ITTR HAUTH
C) g T HRAT D) ydrr A
Answer Key : C Your Response : C (Correct)

Question No. 54

Which of the following processes in lathe produces a diamond shaped regular pattern on the
surface of a workpiece?

A) Chamfering B) Grooving


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

C) Parting D) Knurling

AY FH TTH A Sl A 9fhar, IFNT i Aag W & & AR 7 AT Yot a0 e 82

A) FFeRaEr B) dfder
C) urféa D) afefer
Answer Key : D Your Response : D (Correct)

Question No. 55

Gross head is the difference between-

A) Head race and net head B) Head race and tail race

C) Net head and friction losses D) Head race and friction losses

| ¢35 e & & 3R gar 87

A) &8 W 3R Ac g3 B) g5 W 3R ¢ W

C) sic g3 3Rk frre alew D) g3 34 3iR fherreT aieq
Answer Key : B Your Response : D (Wrong)

Question No. 56

Bomb calorimeter is used to test the calorific value of-

A) Solid and liquid fuels B) Only solid fuels
C) Only liquid fuels D) Gaseous fuels
7 FedHeT @1 3aEeT % Hel AT FT TN FA & AT fRar S g
A) oF 3 el SeeT B) &del 319 SueT
C) ¥ad ava &ue D) 3 e
Answer Key : A Your Response : A (Correct)

Question No. 57

The only state at which the solid, liquid and vapour phases coexist in equilibrium is-

A) Critical point B) Triple point
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C) Saturation point D) Superheated point
THATT 3T, foe a1, g 3K arsq =vor aaee T 7 g 6, Fgaat gl
A) ifds &g B) feuer feig
C) wqfea fag D) srfaarfa foig
Answer Key : B Your Response : B (Correct)

Question No. 58

The number of degrees of freedom of a planar linkage with 8 links and 9 simple revolute joints

8 foid 3R 9 W gA T Siige & WY Teh Tl folhoT T Faciadm AT Ar HE&AT &

A) 1 B) 2
C) 3 D) 4
Answer Key : C Your Response : C (Correct)

Question No. 59

The kinetic energy of a body is stated to increase by 300 percent. The corresponding increase
in the momentum of the body will be-

A) 50 B) 100

C) 200 D) 300

s #r aifdsr et 7 300 wider Hr gfg @ sarr s/ g1 [Nz A afqwnsr # aefaws i

g
A) 50 B) 100
C) 200 D) 300
Answer Key : B Your Response : C (Wrong)

Question No. 60
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The viscosity of water at 20° C is-

A) 0.01 poise B) 1 poise

C) 10 poise D) 100 poise

20° C W 9T fir eI=Iar fhder &7

A) 0.01 4= (poise) B) 1 digd (poise)
C) 10 dsH (poise) D) 100 9isH (poise)
Answer Key : A Your Response : A (Correct)

Question No. 61

When the relative motion between two elements is completely or successfully constrained, then
these two elements form a-

A) Mechanism B) Machine

C) Kinematic pair D) Kinematic chain

9 & dcat & e Ay ander afd quiadr ar ahdaEs AT & ST §, o ¥ At 9 o

¥ S §
A) Hbfdasd B) #efeT
C) @rsadfes JiA D) whigadtfesh H@en
Answer Key : C Your Response : D (Wrong)

Question No. 62

Which of the following is NOT a non-destructive testing?
A) X-ray test B) Magnetic particle test

C) Dye penetrant test D) Nick break test

SoTH § PieT TT T IR-FaRnens (di-Breidea) qdeTor ier &7
A) X-faor gdiafor B) Faehd shur GlieTor
C) 315 Yeide TRrefor D) fa% s Tdietor

Answer Key : D Your Response : D (Correct)
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Question No. 63

Ball bearings are generally made of-

A) Castiron B) Malleable cast iron
C) Carbon steel D) Chrome steel
dier AIRET IAAR W fFeEd oo i 82
A) FHTAT AT (FEC 3TAIA) B) =R Tl oligl
C) FIeeT Trel D) %A &
Answer Key : D Your Response : D (Correct)

Question No. 64

Which of the following conditions is related to Clearance fit?
A) Hole > Shaft B) Hole < Shaft

C) Hole = Shaft D) All of the options

g1 & FleT W ot Forlw five & wefta 87

A) g > amwe B) &g < ame
C) g = awe D) fasedl & & @eft
Answer Key : A Your Response : A (Correct)

Question No. 65
Which material has the best damping capacity?
A) High speed steel B) Stainless steel

C) Mild steel D) Castiron

fra Tl #F F9 S IaHAcT SHAT § ?
A) 3Tl ATl SEATd B) Tolold@ Tl

C) A g&rd D) =T gl

Answer Key : D Your Response : D (Correct)
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Question No. 66

Which of the following devices is used to measure the rate of a flow of a fluid through a pipe?
A) Venturi meter B) Orifice meter

C) Anemometer D) Both Venturi meter and Orifice meter

=T 7 & *ia a1 3YaR0T TF UBY F ATYHA § gF F YAE fr T H ANS & AU
393NeT fRAT ST &7

A) aTgU #Hex B) 3R #Hex
C) TAAEHIR D) dgdr #ex 3R 3R #Aex =t
Answer Key : D Your Response : D (Correct)

Question No. 67

Maximum shear stress at any point in a thin cylinder of diameter (d) and thickness (t) subjected
to an internal fluid pressure (p) is given by-

A) pd/2t B) pd/4t

C) pd/8t D) pd/6t

T ga g (p) & 3reheT =aw (d) AR AR (1) T TF g JoieT A A o Rig W

3fHad 39w9r gfdeei(Maximum shear stress) &I SaRT YefRia farar Siar g
A) pd/2t B) pd/4t
C) pd/8t D) pd/6t

Answer Key : C Your Response : C (Correct)

Question No. 68

Shot peening is a working process.

A) Hot B) Cold

C) Warm D) Very hot
eife difdeT v FI gfshar B

A) IH B) &3
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C) &odhrl I D)ag?rmfr

Answer Key : B Your Response : B (Correct)

Question No. 69

The processes of a Carnot cycle are-

A) Two adiabatic and two constant pressure  B) One constant volume, one constant

pressure and two isentropic

C) Two constant pressure and two isothermal D) Two isothermal and two isentropic

TS Sl T & T g gl

A) ar sgrsH 3R o Fadie g e B) & faadie 3mads v Aydis g 3K ar

C) ar fAadie g 3R & AEAYAT (FFA™) D) ar Ws@UF (FHA) 3T @ 3sdece

Answer Key : D Your Response : D (Correct)

Question No. 70

The ratio of isentropic work to Euler work in a centrifugal compressor is called-
A) Work coefficient B) Velocity coefficient

C) Pressure coefficient D) Flow coefficient

T FeglqlRF FAE F o FA ¥ HSAAAF FF & Ui HT AT gl AT 87

A) @ 0T B) der IUTh
C) &drd 3[ulish D) warg J[oTih
Answer Key : C Your Response : C (Correct)

Question No. 71

are used for grinding large flat surfaces.
A) Ring or cylindrical wheels B) Flaring cup wheels

C) Dish wheels D) Cup wheels

____ &I 39ANT 931 U Hael 98 & fav o sirar gl
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A) FoIT IAT JolhR Ifgw B) weldfer &y ufgw
C) f3r ufgw D) &9 9y
Answer Key : D Your Response : A (Wrong)

Question No. 72
is the operation of machining two vertical surfaces of the work piece at a time.
A) End milling B) Side milling

C) Straddle milling D) Form milling

TF AT # g& 9 (work piece) & &Y FtaTtR Tdel $ir #MfAeT Fr daresT gl

A) us fAfeer B) w@rss faferer
C) ¥eso fAfer D) wid fAfeler
Answer Key : C Your Response : C (Correct)

Question No. 73

. . . 0.00 .
Expressinga dimensionas 18.3;,, mm 1s the case of-

A) B)

Unilateral tolerance Bilateral tolerance

0 D)

Limiting dimensions All of the options
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18.3%°) Tt & =9 T STaH e 2 ®eAT ERIGEL
A) B)
Az eiereed AT eve Ele i
(Unilateral tolerance) (Bilateral tolerance)
0 D)
[EIEIEASREE G Craporit 3 1 Freft

(Limiting dimensions)

Answer Key : A Your Response : A (Correct)

Question No. 74

Fluorspar is mainly composed of-

A) Calcium fluoride B) Calcium sulphate
C) Calcium phosphate D) Calcium nitrate
FeRIREIR # & gl gl
A) HTRIH FIINISS B) fovRreT dethe
C) Hfcrad wiethe D) ferraA dArgee
Answer Key : A Your Response : A (Correct)

Question No. 75

Motion of a square bar in a square hole is an example of-
A) Completely constrained motion B) Incompletely constrained motion

C) Successfully constrained motion D) All of the options

T R Bg & s @R oz 6 afq, T 3ST8I0T ¢l
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A) U f%g aifd B) 3ol feg a1
C) Hbeldqas &g arfd D) T3 faseq
Answer Key : A Your Response : A (Correct)

Question No. 76

Tripoli, a fine powdered porous rock used as a polishing abrasive for metalsmithing, is also

known as-
A) Pumice B) Rotten stone
C) Silicon carbide D) Lime

mmm@m(pomus)w%,mmﬁmmﬁmm

& § 7 B Srar g, S & § F FET 1T B
A) =ar (Pumice) B) esT 9 (Rotten stone)
C) fafesT #E1Es (Silicon carbide) D) e (Lime)

Answer Key : B Your Response : C (Wrong)

Question No. 77

Maximum shear stress in a beam of rectangular cross-section is times the average
shear stress.

A) 1.25 B) 1.50

C) 1.75 D) 2.00

HIAHR TS FIC alell Th A F AHAHAA 3qwqor Hfager(Maximum shear stress), 3iae
ITEIOT e FT I Bl §

A) 1.25 B) 1.50
C) 1.75 D) 2.00
Answer Key : B Your Response : B (Correct)

Question No. 78

In actual machines, which of the following is CORRECT?

A) Mechanical advantage is equal to velocity B) Mechanical advantage is greater than
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ratio velocity ratio

C) Mechanical advantage is less than D) Mechanical advantage is unity

velocity ratio

e #Er # fArafaf@d & = wér 87
A) 1T 87, AT 3T]dTT & sSRI&X gl & B) Iif¥eh ofe, 99T 3HeJurcd & 31f&eh gl &
C) IIfIh TS, AT AT & FH gl & D) I oM TaT g

Answer Key : C Your Response : C (Correct)

Question No. 79

Impulse can be obtained from the-

A) Velocity-time diagram B) Force-displacement diagram
C) Velocity-dispalcement diagram D) Force-time diagram
3T ¥ uod RRAT ST W §
A) AT-HAY IRG B) so-faeume 3Rg
C) AuT-fATUTT IRNG D) So-HAY 3IRNG
Answer Key : D Your Response : D (Correct)

Question No. 80

In which type of welding joint 70% to 80% of all joints are made by arc welding?
A) Lap welding joint B) Fillet welding joint

C) Edge welding joint D) Tee welding joint

e g & afese & |l SISt & 70% & 80% SIS 3% AfCST @RI & BI 87

A) o afeger As B) fheoe afcse s
C) Tl afese s D) & afese s
Answer Key : B Your Response : A (Wrong)

Question No. 81
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Which type of chisel is used for special work such as forming flutes and channels?
A) Flat chisel B) Cross-cut or cape chisel

C) Round-nose or half-round chisel D) Diamond pointed chisel

e gopR 1 RIsTer 1 39T fRIY F1F S Fofed IR Aeaew s & fAw fhar srar 2

A) Wele R B) %ig &hc AT T TIeTel
C) U3s-AlST IT §IH38 RIoTed D) S/¥HS uiges Iod
Answer Key : C Your Response : B (Wrong)

Question No. 82
Oxygen-acetylene combination produces the highest temperature of around-
A) 2200°C B) 2700°C

C) 3200°C D) 4800° C

NS A-UfAfENT T TASTT AT hdelT 3TaddH dIAT 3c9eT Il §7

A) 2200°C B) 2700°C
C) 3200°C D) 4800°C
Answer Key : C Your Response : C (Correct)

Question No. 83

Group technology organizes-

A) Common parts, problems and tasks B) Automation and tool production

C) Documentation and analysis D) Parts and simulation analysis

qq Ta=teliol cHareYd Feh g

A) FHAT 9, AT AR HURa & B) Fadreel 3R ToT 3cUest

C) cEdrdsirehior 3R fageryor D) uriéw 3R EegelereT faveisor
Answer Key : A Your Response : A (Correct)

Question No. 84
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The ratio of specific heat at constant pressure to the specific heat at constant volume for argon

and helium is-
A) 1.1 B) 1.3
C) 14 D) 1.667

et IR Sfod & v Padie g9 W [JIRSe AT &1 Aadie 3T W Qs Fsar @
ko eIG 8 gl

9

A) 1.11 B) 1.3
C) 1.4 D) 1.667

Answer Key : D Your Response : D (Correct)

Question No. 85

flow is defined as that type of flow in which the velocity at any given time does not
change with respect to space.

A) Uniform B) Non-uniform

C) Steady D) Unsteady

yarg F IRART BFar Jrar § & ag 3 varg § S Y o 33T 9 Q97 31afieT &
H 7 18T Scaar Bl

A) TATT AT B) 3k HATA
C) R D) 3R
Answer Key : A Your Response : A (Correct)

Question No. 86

A stream function is given by y = 2xy. The magnitude of velocity at (3, 4) is-

C) 10 D) 24

TH URT (FH) Beled @ = 2xy EaRT YGRIT BFar s/ m &1 (3,4) W 39T Sl IRATT FAT §amm?

A) 2 B) 5
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C) 10 D) 24

Answer Key : C Your Response : C (Correct)

Question No. 87

A Johansson Mikrokator is a mechanical comparator used to obtain of the
difference in length as compared to a standard.

A) Magnification B) Flatness

C) Angle D) Roundness

T gl fRpIhey T Adbfoehel FIFTeT § ST UM ATF & HFEe odlS # IR H

uTod F%1 & fow fmar ST Bl
A) 3f B) @HcTeldT
C) ot D) amers
Answer Key : A Your Response : A (Correct)

Question No. 88

The ratio of the inertia force to the pressure force is known as-
A) Reynold's number B) Froude's number

C) Weber's number D) Euler's number

3T Sel(inertia force) 3R T T FT AT FAT FEIIT 87

A) ies @Ear B) W38 A&AT
C) dex HE&ar D) e’ |
Answer Key : D Your Response : D (Correct)

Question No. 89

The ideal gas-refrigeration cycle is similar to the-
A) Rankine cycle B) Reversed Brayton cycle

C) Dual cycle D) Stirling cycle
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e Fa-efiaer o & AT 8-
A) IfraT T B) Rad st o
C) g Ish D) Tefdr T

Answer Key : B

Your Response : B (Correct)

Question No. 90

Loss of head at Exit of pipe is calculated by-

A)

0

0252

B)

D)

ﬂg’ﬁwﬁm{uﬁtﬁ) W 85 & R H I fhEE GaRT H

A)

0375

®)

B)

D)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

5 3

v v
0.25— —
2 2g
Answer Key : D Your Response : D (Correct)

Question No. 91

Which of the following operations is done by multi tooth cutter?
A) Milling B) Broaching

C) Facing D) Both Milling and broaching

AL T FeT GarT $9a1 W FleT AT TR0 fFar S 82

A) fafder B) siferer
C) wffer D) fafelr R sifer =t
Answer Key : D Your Response : D (Correct)

Question No. 92

A Francis turbine is an-

A) Inward flow reaction turbine B) Inward flow impulse turbine

C) Outward flow reaction turbine D) Outward flow impulse turbine

TH WifQH EBT o-

A) 37Tash Yarg RAFAT cI&ST B) 3a® YdIg SFUcd calsd

C) d1ed ydarg RAFUA eXagd D) 9T 94l $F9ed calsd
Answer Key : A Your Response : A (Correct)

Question No. 93

In planetary motion-

A) The total angular momentum remains B) The total linear momentum remains

constant constant
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C) The total linear momentum is zero D) The total angular momentum is zero

Celeedl AR (T Afd) #-

A) F HIONT FaT TR T 8 B) %ol W Hav1 R Tgll &
C) Por YWk A YT EIell B D) Fer HIONT HAIT LT &Il B
Answer Key : A Your Response : A (Correct)

Question No. 94

In a general compression process, 1 kJ of mechanical work is supplied to 2 kg of fluid and 400
J of heat is rejected to the cooling jacket. The change in specific internal energy would be-

A) 700J B) 350 J

C) 300J D) 600 J

T AT GNsT ufshar &, 2 fFelamd g W 1 kJ Fifde s 3IRAT fFar smar & 38w 400 J
FAT TSIl @I FAIT Sihe H Fell S &1 o R_Rse Hiakes S 7 @ arer aRad
5 IGECIE I

A) 700 J B) 350 J
C) 300 J D) 600 J
Answer Key : C Your Response : A (Wrong)

Question No. 95

A block resting on an inclined plane begins to slide down the plane. If the angle of inclination is
gradually increased to 30 degrees, then the coefficient of friction between the block and the

plane is-
A) 0.5 B) 0.577
C) 0.72 D) 0.866

g AT FAGA W AT IEEAT FTell sclleh FAde § A T I HhaA Y& T e g1 51
gFE F HIOT H OGN 30 Bl dF gorm Sar B, o R sl wHAE F g & oador v
IOt & S|

9

A) 0.5 B) 0.577
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C) 0.72 D) 0.866

Answer Key : B Your Response : B (Correct)

Question No. 96

If there is no melting of the edges of the base metal at the root face or on the side face or
between the weld runs, then it is -

A) Lack of penetration B) Lack of fusion
C) Burn through D) Excessive penetration
Ifg € B AT W55 B W AT 365 & & 6T 97 Acd & Far o Ruel, ar I giar
gl
A) HSsT H FATT B) Teldel & 37HTT
C) &1 4 D) 3cafas sigs
Answer Key : B Your Response : B (Correct)

Question No. 97

Plug welded joints are used-

A) To join two pieces of metal in the same B) To join a circular metal with a flat job

manner as riveted joint metals

C) For jobs carrying shear stress D) For jobs of dissimilar materials

CHAIT do35 SASeH H 3YANT 5HS fov Rar T §-

A) aig3t # R @ Ssa & FA dlF & B) T e 1 & a9 SAld & Ssal & fow
%ngrésa’rgqos‘i I S

C) 39&quT gfded darel g & v D) 3gART AR drel Siig & ol

Answer Key : A Your Response : A (Correct)

Question No. 98

Which philosophy eliminates sources of manufacturing waste by producing the right part in the
right place at the right time?

A) ERP B) JIT
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C) TPM D) CIM

FiT AT Rgid, T THT W, & VAF W, @ 9i¢ F1 AT &, _/fA#A0r 39fRse & q@iat i
FHATCT AT &7

A) ERP B) JIT
C) TPM D) CIM
Answer Key : B Your Response : C (Wrong)

Question No. 99

Monel metal is-

A) Aluminium copper alloy B) Aluminium silver alloy

C) Copper Nickel alloy D) Chromium Molybdenum alloy

AleTel ©T AT 87

A) RS SR A g B) srfafaast Tord fAsr arg

C) &R foser s arg D) siffrme Arfeessta fasr erqg
Answer Key : C Your Response : C (Correct)

Question No. 100

The isothermal bulk modulus of a perfect gas at atmospheric pressure is-
A) 1.013 x 105 N/m? B) 1.013 x 108 N/m?

C) 1.013 x 1010 N/m? D) 1.013 x 10" N/m?2

AYASNT ara # HIGY N FT HSAYHAT Toh A et grar 82

A) 1.013 x 105 N/m?2 B) 1.013 x 108 N/m?2
C) 1.013 x 1010 N/m? D) 1.013 x 10" N/m2
Answer Key : A Your Response : A (Correct)

Question No. 101

Which of the following is NOT a prime requirement of tool material?
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A) It should have good machinability B) It should have low melting point

C) It should have low erosion rate D) None of the options

fAeafaf@a F & @l @ sg=or el (gor ARFe) A v wogE aRTHar T 82

A) 3EH 3T AAMATSTedr gt arfgul B) SHH H Ielelleh glell AU
C) 3HH 3HUGRUT &l &I HA glel AT D) &aAH & HiIs gl
Answer Key : B Your Response : A (Wrong)

Question No. 102

A Scott-Russell mechanism consists of-

A) Turning pair only B) Rotary pair only

C) Sliding and turning pairs D) Turning and rotary pairs

T Thicad Adfaod &I §eI g Bl

A) Fad cfeir T B) hddl e U3R

C) TamsfEer 3R it daa D) efeler 3R Il 98
Answer Key : C Your Response : A (Wrong)

Question No. 103

The machining time to face a job of 60 mm diameter and rotating at 80 RPM with a feed of 0.3
mm/rev is-

A) 2.5 minutes B) 1.25 minutes

C) 2 minutes D) 5 minutes

60 fAFT U & ST F B W & AT AMNAT TAT =T A9M FT 9§ 0.3 mmirev & HE F
| 80 RPM W g« aTell 8-

A) 2.5 fAsc B) 1.25 fAacT
C) 2 A« D) 5 fAsic
Answer Key : B Your Response : B (Correct)

Question No. 104
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A single point tool specified as 8-14-6-6-6-15-4 has a back rake angle of-

A) 8° B) 14°

C) 6° D) 15°

8-14-6-6-6-15-4 & ®7 # fafése Rierer uise 3uawor (o) # 8% & @I e ger 87

A) 8° B) 14°
C) 6° D) 15°
Answer Key : A Your Response : A (Correct)

Question No. 105

What is the nature of distribution of shear stress in a rectangular beam?
A) Linear B) Parabolic

C) Hyperbolic D) Elliptic

HAARR S 7 990 Gfdaer (shear stress) & facwor #r gepfa = 872

A) fEs B) Rrsifos
C) gIsWElfelsh D) &rdgedta
Answer Key : B Your Response : B (Correct)

Question No. 106

Poisson's ratio for aluminium ranges between-

A) 0.23-0.25 B) 0.25-0.26
C) 0.31-0.34 D) 0.27-0.30
TogAfAgH & faT a1 Heard(Poisson's ratio) & o= gem|
A) 0.23 - 0.25 B) 0.25 - 0.26
C) 0.31 - 0.34 D) 0.27 - 0.30
Answer Key : C Your Response : C (Correct)

Question No. 107



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Hyper eutectoid steels have structure of-

A) Pearlite alone B) Phases of ferrite and pearlite

C) Phases of cementite and pearlite D) Phases of ferrite and cementite

BEW FeFeiss T &I HIGar & HHA gdr g

A) Fad Tdisc B) ®se 3R Udise Hr aearsit

C) dHerse 3R Tolige Hr raeamsit D) Wrse 3R dFHcse $r 3aeansit
Answer Key : C Your Response : C (Correct)

Question No. 108

In gas welding, the inclination of the blow pipe with respect to the plate in Leftward welding is-

A) 30°to 40° B) 40° to 50°
C) 60°to 70° D) 90° to 100°
I Afeger &, 1§ 3R AfSSer & wole F oy F sar 9T F FFE 8 gl
A) 30° & 40° B) 40° & 50°
C) 60° & 70° D) 90° & 100°
Answer Key : C Your Response : C (Correct)

Question No. 109

The steam capacity of Cochran boiler is-
A) 2000 kg/hr B) 3000 kg/hr

C) 4000 kg/hr D) 5000 kg/hr

PR STFeT FT AT &THT B-

A) 2000 f&ar / ger B) 3000 foarm / ©er
C) 4000 forarm / et D) 5000 ferarr / ©er
Answer Key : B Your Response : A (Wrong)

Question No. 110
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In a 32A 49 H 8 V BE grinding wheel, the grit size is represented by-

A) 32A B) 49
C)V D) BE
32A 49 H 8 V BE I e #, BT Wzt ¥ =g g Bl
A) 32A B) 49
C) VvV D) BE
Answer Key : B Your Response : B (Correct)

Question No. 111

The number of instantaneous centres for a four bar chain mechanism would be-
A) 2 B) 3

C) 4 D) 6

IR IR @ 77 & fAv o St fr Jear gen-

A) 2 B) 3
C) 4 D) 6
Answer Key : D Your Response : D (Correct)

Question No. 112

The surface speed of regulating wheel in case of centreless grinding is-

A) 15-75 m/min B) 100-500 m/min

C) 500-800 m/min D) 1000-1500 m/min

e TR, IR o B T T gl 1

A) 15-75 A/fAfac B) 100-500 #Hi/fAfac

C) 500-800 #H/fAfIc D) 1000-1500 #H/fAfAc
Answer Key : A Your Response : A (Correct)

Question No. 113
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The coordination number of FCC crystal structure is-
A) 4 B) 8

C) 12 D) 16

FCC for¥ceal UGl ST HHAaT TEAT T 7!

A) 4 B) 8
C) 12 D) 16
Answer Key : C Your Response : C (Correct)

Question No. 114

The drill RPM for drilling a hole of 256 mm diameter in a 15-mm thick plate with a cutting speed
of 25 m/min is-

A) 318.4 RPM B) 424.6 RPM

C) 636.8 RPM D) 232.6 RPM

25 fA#Y /| A Y Fad AT F 15 A A e 7 25 FA I 71 By Ba WA & v
RS 3 RPM el

A) 318.4 RPM B) 424.6 RPM
C) 636.8 RPM D) 232.6 RPM
Answer Key : A Your Response : A (Correct)

Question No. 115

Martensite forms during quenching, when the face centered cubic lattice of austenite is

distorted into the structure.

A) Body-Centered Tetragonal B) Face-Centered Cubic

C) Hexagonal Close Packed D) Rhombohedral Crystal

o9 JReame & v W wfaF Afew @ e # fawla frar arar 8, a9
T & SN AéaEe 9T B

A) a-TCE Semer B) u-dics TR
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C) RFAmNeel Fellol YoFs D) qeger foheee

Answer Key : A Your Response : A (Correct)

Question No. 116

Which of the following is NOT considered as minor head losses, when the fluid is flowing
through a pipe?

A) Loss of head due to friction B) Loss of head due to sudden enlargement

C) Loss of head due to sudden contraction D) Loss of head at the exit of pipe

9 5F TH BT § 9F T @1 o et & & BRy ANl 33 et & §9 A A AT SAer g2

A) TYUT & HRUT g5 AT el B) 3dIeieh Sgo1 & HROT g5 T Jehdlel
C) 3Teleleh HFeel & HRUT 85 I Jehdll D) Wiy & fAh W 835 HT JardreT
Answer Key : A Your Response : A (Correct)

Question No. 117

Sensitiveness of governoris given by-

A) B)
N,+N, N, - N,
N N
C) D)
N N

N,-N, N,+N,
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frarHs ¥ Hagaeiear F& Far smar &2
A) B)
N,+N, N, - N,
N N
0) D)
N N
Answer Key : B Your Response : B (Correct)

Question No. 118

Which of the following mechanisms produces an exact straight line motion?
A) Watt mechanism B) Grasshopper mechanism

C) Peaucellier's mechanism D) Tchebichiff mechanism

@ 7 ¥ frg T & (mechanism) & T (straight) T a1fd 30T gt 82
i@ 7 & e Jafd=ar 7 (mechanism) T Fs] YT a1fA 3c9e=T gl 872

A) are IAfa=ara (Watt mechanism) B) IR =g (Grasshopper
mechanism)
C) U3illhfea®¥  ¥Afd=ard  (Peaucellier's D) faf® LEICCR IR (Tchebichiff
mechanism) mechanism)
Answer Key : C Your Response : C (Correct)

Question No. 119

The standard angle between the sides of a V belt is-

A) 25° B) 90°
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C) 40° D) 45°
V 9 & a3 & &I H Al HIOT 8-
A) 25° B) 90°
C) 40° D) 45°
Answer Key : C Your Response : C (Correct)

Question No. 120

Addendum of a gear is equal to-

A) Pitch B) 0.3p
C) 0.3183 p D) 0.3683 p
T &1 i, F U gar 2l

A) B) 0.3 p
C) 0.3183 p D) 0.3683 p

Answer Key : C Your Response : C (Correct)
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